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Subject: English language
Time: 2 Hours_
Date13/1/2024

Final Exam
First semester
First attempt

collage

Accounting Department
First class

2023-2024

JEconomic &Administraties

Q1/ Fill in the following spaces with a suitable word from your textbook (10 MARKS):

Redfield. New York. received twelve feet of snow last week. Its (A)
because they got only ten feet of snow. An Oswego (C)

coming in that would (D) the (E)
Redfield." This is the most snow the (F)

Schools were closed all week. Most kids were happy about it. They couldn't go ice (G)

. "l hope we get five more feet,"
has received in six years.

in Oswego are (B)

because the roads were closed. But they did play in the snow, make snowmen, and have snowball

fights.
"It wasn't a good week for me," (I)
snow off the roof.

one high school student. "I had to help my dad (J)

all the

Q2/ Select the correct choice from each sentence below. ANSER ONLY 5. (10 MARKS):

1. Birds

in the sky. (FLY: Simple Present)

A- Birds have flown in the sky.

B- Birds are flying in the sky.

C- Birds fly in the sky.

D- Birds have been flying in the sky.

2. The children

in the park. (PLAY: Present Continuous)

A- The children play in the park. B- The children have been playing in the park.
C- The children have played in the park. D- The children are playing in the park.
3. He home. (ARRIVE: Present Perfect)

told a TV reporter that one more storm was
he said. "That'll beat

or (H)

—A=He arrives home:

D=He has arrived home.

C- He is arriving home.

D- He has been arriving home.

4. He

for an hour to get in shape. (RUN: Present Perfect Continuous)

A- He runs for an hour to get in shape.

B- He is running for an hour to get in shape.

C- He has been running for an hour to get in shape.

D- He has run for an hour to get in shape.

5. They

their vacation when the news came on. (PLAN: Past Continuous)

A- They planned their vacation when the news
came on.

B- They had planned their vacation when the news
came on.

C- They were planning their vacation when the
news came on.

D- They had been planning their vacation when the
News came on.

They

tickets to the concert before it sold out.

(BUY: Past Perfect)

A- They bought tickets to the concert before it sold
out.

B- They had bought tickets to the concert before it
sold out.

C- They were buying tickets to the*concert before it
sold out.

D- They had been buying tickets to the concert
before it sold out.

Q3/ Select the correct choice from the words in the following table to fill in the spaces below.

MARKS)

(10




\aghhr e Particular Ride Browse

Excited Customers Thrift Catch
Domanons Wall Sign cruise
L Jim went to the (i) shop. He wasn't looking for anything in (ii) . He liked to go there
Just to (iii) . A big (iv) on the front door said OPEN. The shop was closed on Sunday
and Monday. The rest of the week, it opened at 10 a.m. and closed at 2 p.m. Two women worked
inside. They rang up sales and put the items into plastic bags for the (v) to carry out.
4 Liz was (vi) . She was going to Asia with her mom. Neither of them had ever traveled out of

the United States before. They were going to fly to Hong Kong. After staying in Hong Kong for
three nights, they would travel on their (vii) _____ ship to Shanghai and Beijing. "Beijing is
inland. so we have to take about a twoJhour bus (viii) _____ to get there from the port. I forget
the name of the port. Anyway, we're going to see the Great (ix) _____, the Tiananmen Square, and

the Forbidden City. It's going to be so cool!" she told her (x) Jane.

()4 re-write the following sentences with the mentioned verbs and tenses in their brackets. ANSWER
ONLY 10. (10 MARKS)

a The sun in the east. (RISE: Simple Present)

b. I a response to your question. (TYPE: Present Continuous)

¢ She  herwork for the day. (FINISH: Present Perfect)

d I for my exam for the last two hours. (STUDY: Present Perfect Continuous)

¢ She  me last night. (CALL: Simple Past)

W to the park when it started to rain. (WALK: Past Continuous)

e I mydog for awalk before I went to work. (TAKE: Past Perfect)

kI the piano for an hour before the recital. (PRACTICE: Past Perfect Continuous)
i I myfriends at the park later. (MEET: Simple Future)

j. He dinner for his family at 6pm. (COOK: Future Continuous)

£ I anew job by next month. (FIND: Future Perfect)

I I tobuyanew car for a year by next month. (WANT: Future Perfect Continuous)

Q5/ Write about either A or B (at least 100 words): (10 MARKS)
A "Visions of the Future: A Journey Through My Dreams".
B "My Favorite Character: The Hero Within My Heart".
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31,900 and used supplies of § 1,800, The March 31 balance sheet should report what
balance in the supplies account .

a. 51,300 |, b.$1.600 . €. %1.800 . d. $1.900

is estimated that

0- Al Alaa tompany purchased a computer for $2,400 on December L.it =

~ annual depreciation on the computer will be $480. If financial stalemetlts :_ma to r
Prepared on December 31, the company should make the following adjusting entry
a. Debit depreciation Expense , $480; credit accumulated Depreciation $480
b. Debit depreciation Expense , $40; credit accumulated Depreciation $40
¢. Debit depreciation Expense $1920; credit accumulated Depreciation $1920
d. Debit office equipment , $2400; credit accumulated Depreciation $240

7- A purchase of Office supplies that was recorded in an office equipment account would

require correcting entry that )
a-credits an office supplies  b- credits cash  e- debits an office equipment d- credits 0

equipment  e- None of the above.

8- Adjusting entries are made to ensure that

a- Expenses are recognized in the period in which they are incurred

b- Revenues are recorded in the period on which they are earned.

¢-Balance sheet and income statement accounts have correct balances at the period

. d- All of the a above.

. 9- Each of the following is a major type of adjusting entries EXCEPT.
a- prepaid expenses  b- Accrued revenues - earned revenue.,

10- Adjustments for revenue received in advance
a- Decrease liabilities and increase revenue . \b- Have an assets and revenues account
relationship , e- Increase assets and increase revenues . .d - Decrease revenues and decrease

assets .

11- Reduction in A\R or A/P thatis granted if it is paid within the discount period .
a- cash discount b- Trade discount ¢- discount d- None of the a above .

12- Which of the following increase A\P
a- Customer fails to pay an invoice b- Supplier delivers good on credit e~ Office supplies

are purchase with cash  d- None of the above .

Q2// Answers with true or false

e 5 T Y

I- Revenue received in advance if revenue will be earned in one fiscal period |
3- received cash from customer for $400 credited to A\P
3-purchases equipment cash for $ 5000 debited to equipment for $500 and credited to cash
$500 so corrected entry
From\ equipment 4300 = ¢
To'\ cash 4500
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NUT—1An5wer only four questions , including the first and second.

Q1Y Choose the correct answer

L. Al Taha Co. pays weekly salaries for a 5-day week of $2,000 every Friday, January 31 falls
on a Thursday. The monthly adjusting entry at January 3| ' -

a. Shc.*:uld pay salaries of $1,600 |, b. should accrue salaries of $400 , ¢. should accrued
Salaries of $ 1,600 , d. should record unearned salaries of $400

2-On January 30, Tensing company purchased supplies of $2, 000. The supplies were .

all consumed in February .which of the following statements is true regarding the
accounting for these supplies

a. The supplies should be recorded as an asset in January and no adjusting entry is necded until
the supplies are used in February -

b. The supplies should be charged to supplies Expense in January and no adjusting entry Is
needed until the supplies are used in February

¢. The supplies should not be recorded in the accounting records until used in February

d. The adjusting journal entry at the end of January will includé a debit to supplies Expense and.
accredit to supplies for $2,000

3-On February 28, Sara Co.i'ﬁcciv;iﬁlhc months utility bill which due on march 15. .
Which of the following statements is true regarding the accounting for February utilities
a. The expense should be accrued in February by debiting utilities Expense and crediting cash
b. The expense should be accrued in February by debiting utilities Expense and crediting
utilities payable

¢. The adjusting entry at February
Utilities Expense

d. The adjusting entry at February 28 should include a debit to Pre

28 should include a debit to Utilities Payable and a credit to

paid Utilities and a credit to
cash

4-Al Ali company purchased office supplies costing $ 4,000 and debited office supplies .
for the full amount. at the end of accounting period, a physical count of office supplics

revealed $1,600 still on hand .The appropriate adjusting journal entry to be made at the

end of the period would be
a. Debit office supplies Expense $ 1,600; credit office supplies § 1,600
b. Debit office supplies, $ 2,400 ; credit office supplies Expense, $2,400
¢. Debit office supplies Expense, $2.400; credit office supplies$2,400

d Debit office supplies $ 1,600; credit office supplies Expense $ 1,600

06 Mecrem Time If an adjustment is needed for uncarned revenuces, the.

5-At march 1,20
500.During the month Merem purchased supplies of

Inc. .had supplies on hand of 51,
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Minis

H
wh" Edu. & o Final Exam Sub: English Language
Mﬂc_ . esearch | First Attampt Stage: Third
m. - & Econ. College 15t Semester
AEcounting. Dept.

Time: 2 Hours

202372024 Date: /172024

Note: Answer five questions only.

10 Marks for each question.
‘A: Change the following active sentences into passive voice,

2 dog chased the cat,

ryone loves Zara.
Miss Mary teaches us English.

English is taught to us by Miss Mary.
The cat ate the fish.

: B: Change the following passive sentences into active voice.
The windows have been cleaned by someone.

5 the work been done by him?
The girl was teased by the boy.
anas are being eaten by them.

lhe guitar is always played by Jacob.

: : (10M)
pose the correct preposition from the parenthesis. -
Ve eat breakfast

.......... the morning. (a. on

b.in ec.at d. for)
amilies often argue

............ Christmas time. (a. on b.in c.at d. for}

ed how to ski the holidays. (a. around b. throughout c. until

«during)

-------------

........... six in the morning when we made it to bed. (a. around b. about
il d.at)

@ store is open

-------

Midnight. (a. around b. about c. until d. at)

........ the page. (a. on
) juice is ........ the jar

e images are b.in c.at d. for)
...... the fridge. (a. onfin

b.infin c.infat d. inffor)
boys are ....... the entrance

....... the movie theater. (a. atfin

b. infat c.
d. onfat)
| the sandwich ........ there. (a. on b. in c. over d. at)
ca and Judi are swimming ....... the lake. (a. on b. across c. for d. until)
E 2 -—--{10M)
frect the underlined conjunction.

 cooking or eating, and | don’t like washing dishes afterward.
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3. | work quickly either carefully.
4. We needed a place to concentrate, and we packed up our things and went to the

library.

n

Because he leaves, make sure his room is clean.

6. ldrank a glass of water so | was thirsty.

7. Have a safe trip. And don't forget to call on you get home.
8. | tried my best through | didn't pass.

9. After it was hot, she was wearing a coat,

10.You can have neither tea nor coffee for break.

S e - s . - . (10M)
Q4: Choose the correct definite or indefinite articles.
1. Whois ........ lady in ....... picture? (2. afa b.thela c.ajthe d. thejthe)
| visited ......... South Africa last summer, (a.- b.a c.an d. the)
3. Jamy likes ........ music, he plays ......... instrument. (a.—fa  b. anfthe c. an/-
d. -/an)
4. Look at ........ - sea! (a. the b.a c. - d. an)
5. Would you like to have ............ some juice? (a.a b.an c.the d.-)
6. They have ..........., shop in Oxford Street. (a.~ b.the c.an d. a)
7. My house is in the south of ................ city. The shop is on the left.
(a.- b.a c.an d. the)
8. We spent a whole week in ............. Madrid. | spent the whole day watching TV.
(@.a b.an c.the d.-)
9. Please switch off ............. TV when you finish. (@a.an b.a c. — d. the)
[0.We arrived in ............. USA last Friday. (a.a b.an c. - d. the)
- (10M)
5: Complete the following sentences.
. | will earn a lot of money if I .............. that job. (get)
If he tried harder, he .............. his goals. (reach)
i . peee—— to the radio, we would have heard the news. (listen)
If you rest, you .............. feel better. (be)
If you .............. told me you needed a ride, | would have left earlier. (have)
. flstudy, I .............. pass the exams. (will)
Wl ccasisiiiens in Rome, Francesco would visit us. (live)

If Susan studied harder, she .............. better at school. (be)



S p——— . . i - __ - |

a good report. (write)

10.1f you had told me you needed a ride, | would .............. left earlier. (have) 850}
(1

9. IKf.John had learned more words, he ..............

-

Q6: Complete the sentences, using the comparative and superlative of the adjectives in

brackets.

1. Today Is............. yesterday. (hot)

2. Our house is ............ than yours. (big) '

3. The princess is ............. than the witch. (beautiful)

4. ltisthe............. shop in town. (large)

5. Monday is the ......... day of the week. (bad)

6. My sister thinks she's cseveeene...(intelligent) than me, but | don't agree!

7. Your daughter is ............. her brother. (thin)

8. Whatis ........... (wet) month of the year in England?

9. Do you think the Harry Potter films are ........... (good) than the books?

10.Who is ............ (powerful) person in your country?

e (10M)
(Good Luck

—

Dr. Elham Alshawe

Dr. Ammar Yousif
Head of the Dept.

Lecturer

c‘f—‘—j?fz k ———
Dir. Aﬁulhussnin Tawfleeg
The Dean
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JALC ounting Lepartment

Date: 14/1/2024 { @ T.Tg.t.TT e i3 {0 A
Time: ¥ houre Tt First Semester

Note : Answer Four Questions Only 4 2020
Q1/The following is a comparative income statement for Poco Co. as December 31, 2019 an

2019 2020

_Particulars Amount Percent Amount Percent
Sales 500,000 ? 7 120%
Sales returns and allowances ? 25% 120000 7
Net sales 7 ? ? ?
Cost of goods sold ? ? ? % 40
Gross profit ? 50% 7 ?
Operating expenses ? ? 144000 ?
Net income ? 20% ? ?

Instructions// Fill the missing data using vertical analysis method.
Q2/ Financial information for Sinead Inc. is presented below.

December 31, 2013 December 31, 2012
Current assets ' 125,000 100,000
Plant assets {net) 396,000 330,000
Current liabilities 91,000 70,000
Long-term liabilities 133,000 85,000
Common stock, $1 par 161,000 115,000
Retained earnings 136,000 150,000

Instructions// Prepare a schedule showing a horizontal analysis for 2013
Q3/ The following are the summarized Profit and Loss A/c and Balance Sheet of Zane Ltd. Fc

Particulars Particulars

To Opening Stock 99,000 By Sales 950,000

To Purchases 545,000 By Closing Stock 150,000

To Freight Inward 16,000

— | To Gross Profit 430,000 =

1,100,000 1,100,000

To Operating Expenses 200,000 By Gross Profit 440,000 K

To Loss on Sale of Asset 40,000. By Non-operating income 60,000

To Net Profit 260,000

500,000 500,000

Liabilities and Equity Assets _ |

Share Capital 200,000 Land and Building ' 150,000

Reserve and Surplus | 260,000 Plant and Machinery 180,000

Bill Payable 40,000 Stocks 150,000

Other Current 90,000 Debtors 45,000

Liabilities Bills Receivable 5,000

Cash & Bank 60,000

580,000 | 590,000

Instructions// Calculate the following: 1. Gross Profit Ratio. 2. Operating Profit Ratio. 3. Return on
Capital Employed. 4. Proprietary Ratio. 5. Accounts Receivable Turnover Ratio. 6. Current Ratio |

Fixed Assets Turnover Ratio. 8. Net Profit Ratio. 9. Working Capital Turnover Ratio. 10 Inventory
Turnover Ratio. (10 marks)

Q4/A/ The following information's are abstracted from books Bassam Co. -
1) Net Income was QD 120000
2) Bonds payable increased |1QD 50000 cieeeenn... Follow




3) There was a gain on sale of equipment of IQD 20000 (the equipment had a book value of IQD
30000}.
4) Accounts Receivable decreased 1QD 50000
5) Accounts Payable decreased 1QD 20000
6) Prepaid Rent increased IQD 10000
7) Dividends totaling 1QD 20000 were paid.
8) Depreciation was 1QD 20000
9) Common Stock increased QD 50000
10) Land increased 1QD 100000 (purchased land for IQD 100000)
11) Beginning cash 1QD 10000
12) Ending Cash 1QD 180000
Instructions// Prepare the statement of cash flows by using the indirect method and compute
g:f;?!éhe:: H:a;?j?agfr;?i!:%lcmna produce car engines. Their total assets are worth $3,500,000
while they have a working capital of $4,200,000. Their liabilities stand at $5,000,000 while ’Eta'"IEd
earnings amount to $800,000. Eamings Before Interegél and Tax come to $6,500,000. Total sales

i of equity is $7,000,000.
?r?s%i'ﬂi?cm:ﬁ‘ 'Er:::izaﬁ ta;aalfy?tinaqut&y of these data by using the (Altman and Mccovgh)
ZScore Model to determine the extent of the entity's ability to continue (5 marks) |
Q5/ Al The following are the income statement End ;urggféat%ve Balance sheet for Tiger Company:

n r the Year Ended December 31,

s";f;“ zeng.t;él?anrec;s?af goods sold 80,000,Gross profit 120,000 ,Operating expenses 30,000, Income
before income tax 90,000 , Income tax expense 15,000, Net income 75,000
Comparative Balance Sheet as December 31, 2017 and 2018

Particulars 2017 2018 B
———ASSETS ——

CASN. oo cieaeereeneneeees 100,000 80,000

Accounts receivable..............occceeeeeee.. 50,000 90,000

FUITRRLTR sy st sions avssmimesa s s iusinpans smasain @ OD 50,000

Total.....ocns e L0080 220,000

Liabilities and stockholders' equity

Accounts payable................ceeneennn. 40,000 25,000
Income tax payable..............cceen 5,000 15,000

Common SOCK......veeeeeeeeeeereenesneenennne- 30,000 100,000
Retained Earnings...............cooeoveveeennn 39,000 80,000
Toml............ ereaniennnnn, 170,000 220,000

Additional information: | ol
1) The company was declared and paid $30,000 as dividend in 2018,

mmon stock of $10,000 was issued. _
fris?r?mtinnsﬂ Prepare the statement of cash flow by using Direct Method and compute the

flow ratio(15 marks) , . ) ;
cqaﬁsri:iu The company sold 100,000 units at $7.50 each:; its variable operating costs are $3.00 per unit,

and its fixed operating costs are $250.000. Annual interest charges total $80,000, and the firm has

8 000 shares of $5 (annual dividend) preferred stock outstanding. It currently has 20,000 shares of
common stock outstanding. Assume that the firm is subject to a 40% tax rate. *
instructions/fUsing the current $750,000 level of sales as a base, calculate the fin's degree o

' the ree of fi ial leverage, and the degree of _gnmtgiﬂed leverage ( 6 marks)
operating Ieverag: deg ipancial g ggLuIck e deg s 1
AP. Jihana Handhal  A.L. Sameer |. Khalil AP.D Elham J. Hameed
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" Subject: cost Accounting o Final Exam TADYWE g
¥ . . L - coollag
4 Time: 2 Hours J:g; First semester @r Accoonting Departmact
e

Date13/1/2024 F:;;; r;;r::t

Fowrth class

Q 1// chose the correct answer:

1 -Any control system has four important elements : which element helps in comparing
the result with the standard results?

a- A detector. b- An effector. c-An assessor.  d-communication network.

2- In the value chain the design activity is before the

a- R&D activity.  b- Production activity. c-Marketing activity.  d-customer service.

3-Marley Company provides for July the following data: direct material standard quantity
3 meters per unit at standard price of $420 per meter, direct labor standard time 2.5
hours per unit at standard labor rate of $750 per hour, total budget overhead costs of
$800,000 , normal capacity 2,000 direct labor hours, and units produced are 720.The total
standard cost per unit is:

a-54,531. b-55,341. c-$4,351. d-$4,135.

4-Fars Marine Stores Company manufactures decorative fittings for luxury vachts
which require highly skilled labor, and special metallic materials. Fars uses standard
costs to prepare its flexible budget. For the first quarter of 2021, direct material and
direet labor standards for one of their popular products were as follows:

Materials: 1.5 pounds per unit; $4.00 per pound

Labor: 2.0 hours per unit; $18.00 per hour
During the first quarter, Fars produced 5,000 units of this product. Actual direct
materials costs were $29,750. Actual direct labor costs were S184,800.
what is the direct materials cost variance?
a- $250 F b- $250 U c- S480 F d- S480 U

5. When the actual materials mix % is greater than standard materials mix %, the variance
is:

a- Favorable. B- unboreable
¢- neither favorable nor unfavorable d- non of the abave

6- Al saymer company's standard labor rates $14.90 per hour and according to the
standards each unit of output requires 2.8 DLHs in June 1,800 units were produced ,
the actual labor rate was 15.80per DLH and the actual hours were 5,110 DLHs the
labor time variance for June would be recorded as a .

a- debit of 51,106 b-credit of 51,106 c- credit $1,043. d-Sdebit 51,043




chased for $14,400 on 85
d the purchase IS -

e pur
| entry to recor

7- if 20,000 kilograms of direct materials ar
standard cost is $70 per kilogram the journa

a- Material inventory control 14,400
___Accounts payable 14,400
b- work in process inventory control 14,400

Accounts payable 14,000

Material quantity variance 400
c- Material inventory control 14,400

Accounts payable 14,000

_Material purchase price variance 400
d- Material inventory control 14,000
Material purchase price variance 400
14,400

_Accounts payable

8— In flexible budget costs that remain the same regardless of the
¢- fixed costs.  d-variable costs.

output level within the

relevant range are:
a- allocated cost.

9- 2- A flexible budget: b
a- Is anther name for management by exception,

b- its developed at the end of the period.
¢ is based on the budgeted level of output.  d- provide favorable operating result.

10- In the flexible budget , fixed overhead costs are $25,000 ,total standard overhead rate
$150 per hour, standard variable overhead rate $120 per hour, actual hours 2,500
standard hours 2,200 standard time required to produce on unit 1/2 hour, flexible budget

b- budgeted costs.

allowance for actual hours Is:
a- $325,000. b-$300,000.

¢-$320,000. d-$275,000

11- Total budget overhead rate is computed per:
a- Direct labor hour.  b-machine hour.  c-unit produced. d-all the above

12- For fixed manufacturing overhead there is no:
b- efficiency variance.

a- spending variance.
¢- flexible-budget variance.  d-production volume variance.
el T el




Q 4 BAGHDAD Bicycles has been manufacturing its own wheels for its bikes. The vanable
manufacturing overhead is charged to production at the rate of %30 of direct labor cost. The
direct materials and direct labor cost per unit to make the wheels are $3.00 and $3.60
respectively. The fixed manufacturing overhead is $84,000. Normal production is 200,000
wheels per year.
A supplier offers to make the wheels at a price of $8 each. If the bicycle company accepts
this offer, all variable manufacturing costs will be eliminated.
Required:
a. If the fixed manufacturing overhead will not be eliminated, should BAGHIDAD Bicycles
make or buy the wheels.
b. If 50% of fixed manufacturing overhead can use in other alternative, should BAGHDAD
Bicycles make or buy the wheels.

= ---(15 Mark)

With my best wishes

- \? e
N Instructor TN Head of Dept.
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device that me i
/ asures what is Actually happening in the situation being controlled

- Ana -
a ssor  b- A detector. c - An effector. d- A communication

—

14- A company provides the following information, standard material price of $75
per Kg, actual material price of $70 per Kg, material price variance of $156,000(F)
,what is the actual material quantity for actual production?

- 31,000 Kgs. b-31,200 Kgs. c-32,100 Kgs. d-32,000 Kgs.

If you know that the standard labor cost per unit is (4 hrs. x $7 per hr. = $28}
actual time per unit 3.5 hours, actual labor rate of $7.50 per ,actual production
3,500 units ,total labor variance is:

6,125(u). b-$7,000(F). ¢-$7,000{U) d-$6,125(F)
Using write-off to cost of goods sold approach , when standard cost variance

are closed:
_a- Unfavorable variance increase cost of goods sold and favorable variance

decrease cost of goods sold.
b- Favorable variance increase cost of goods sold and un favorable variance decrease

cost of goods sold.
c-The cost of goods sold no effect.

d-Both favorable and unfavorable variance decrease cost of goods sold.

17-If the production more than sale the income under absorption costing will be:
b-equal variable income costing —

a-Less than income under variablecosting. ==

¢-More than income under variable costing. d- no one of above.

18-If actual direct labor hours 4,500, standard labor hours 5,000 standard variable overhead
rate 5 per DLH, standard fixed overhead rate $0.45 per DLH ,actual variable overhead
$24,750 and fixed overhead $2,250, variable spending variance is:

a- 52,500 (U). b-52,250(U). ¢-$2,250(F). d-52,500(F)

lgaﬂtandard matenal prlf.:E of $70 per meter, actual material quantity for actual
pmductmn 1,450 meters, material price variance of $14,500 (U) what is the actual price?

a- $75 per meter. b-$70 per meter.  ¢-$80 per meter.  d-580

20- The position of cost accounting in organizational structure falls:

a- with production department. b-is independent unit.

c- with in finance department d-other, specify..........

9 Y
'l..‘
i n..-'rn.-

3@

20 Marks




Answer three of the following (10 marks for each) \

Q 2// The Milano Company has established the following standard mix for producing 9
litters of product A:

5 liters of material X at $ 7 per liter $35

3 liters of material Y at $ 5 per liter $15

2 liters of material Z at $ 2 per liter 54
A standard loss of 10% of input is expected to occur. Actual input was
53,000 liters of material X at $7 per liter 371,000

28,000 liters of material Y at $5.30 per liter 148,400

19,000 liters of material Z at $2.20 per liter 41,800

100,000 $561,200

Actual output for the period was 92,700 liters of product A.
Required: compute the material mix and yield variance.
Q 3// Al Noor Company determines the standard overhead rates for 2022 based on
10,000 machine hours as a normal capacity. the standard time required to produce one
unit is 4 machine hours. The budget variable overhead rate is $70 per machine hour and
fixed overhead costs are $800,000. during 2022 the company produced 4,800 units of
product and worked 20,400 machine hours. For the year actual overhead costs were
$2,888,400
Required: compute the overhead variance using 3- variances method.
Q 4// Al Bader Company produce the wood table the standard time to make one table is
2 hours. The standard labor rate is $3,000 per hour, production during the month was
~1,000 table. The normal hours worked were 2,200 hours, and overtime on day was 150
hours, normal idle time was 10 hours, and abnormal idle time was 5 hours. The both
types of idle time have not recorded into normal hours neither into overtime. The actual
labor rate was $3,500 per hour.
Required (1) Compute the total cost of idle time.
(2) Compute the direct labor variance
Q 5// 1BM Company provide you the following data month of April 2023
Actual data: direct material used of 7,200 Kgs at actual price $2.1 per Kg. Direct labor of
3,000 hours at actual labor rate $2.8 per hour, variable overhead costs $2,500 and fixed
overhead costs $3,000, the cost variances occurred during the month are as follow:
Price variance $750(U), quantity variance $250{U), labor rate variance $600(U), labor
time variance 5600(U) ,controllable variance $1,000{U) ,volume variance $250(F).actual
production was 1,500 units , standard cost for finished is $26,070 and standard cost for

units sold is $15,000.
Required: Record the journal entries according to the partial method.

i) ﬁnndluck N
mﬁmhahﬂ -P:Dzfaham ). Hameed A.P. Fayha od

Dean Head of Department Lecturer
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Note: Answer three questions, with the first question being part of the answer.
Al Ganss e IV el 5555 ) e i) S0 e aal sddaaDla "
Q 1/ BASRA Manufacturing produces a single product that sells for $8. Variable costs per
unit equal $4. The company expects total fixed costs to be $200.
Use CVP graph to find the following ( divide the X by 10 and Y by 100):
|. BEP of units and sales.
2. If the company produce and sale 40 units, what will be the operating income (loss or
profit), by how much.
3. If the company want to get $100 operating income, how many units must be sale.
---------- ----(20 Mark)
Q 2/ Answer 10 of the following sentences by True or False:
1. Work-in-process inventory are goods partially worked on but not yet completed.
2. To perform cost-volume-profit analysis, a company must be able to separate costs into
fixed and variable components.

3. Breakeven point is that quantity of output where total revenues equal total costs. .

4. In the graph method of CVP analysis, the breakeven point is the (X-axis) quantity of
units sold for which the total revenues line crosses the total costs line. .

5. A profit-volume graph shows the impact on operating income from changes in the
output level.

6. If the selling price per unit is $50 and the contribution margin percentage is 40%, then
the variable cost per unit must be $20.
7. The amount paid to purchase equipment last year is an example of a sunk cost.
Full costs of a product include variable costs, but not fixed costs.
9. Revenues that remain the same for two alternatives being examined are relevant
revenues.
10.The cost of a machine purchased last year will be irrelevant in a decision for next year.
11.A cost may be relevant for one decision, but NOT relevant for a different decision.
e I\ E:15 ¢
Q 3/ Assume the following cost information for Fernandez Company:
Selling price $120 per unit
Variable costs $80 per unit
Total fixed costs $80,000
Tax rate 40%
Required:
|. What is volume of sales dollars is required to earn an afler-tax net income of $30,000?

2. What is the number of units that must be sold to earn an after-tax net income of $42,0007
. - —mm . -(15 Mark)

99




.3- A device that measure
is: s what is Actually happening in the situation being controlled

a— An assessor b-Ad
etector. ¢ - An effector. d- A communication
14- A com i ingi ;
s tl}ar;\r prnw-des t‘he following information, standard material price of $75

h g: ual material price of $70 per Kg, material price variance of $156,000(F)
what is the actual material quantity for actual production?
o= I
1531.0011 Kes.  (75331,200 Kgs. c-32,100 Kgs. d-32,000 Kgs.

-If you know that the standard labor cost per unit is (4 hrs. x $7 per hr. = $28),
actual time per unit 3.5 hours, actual labor rate of $7.50 per ,actual production
3,500 unitstotal labor variance is

_a- $6,125(u). b-$7,000(F). c-$7,000(U) d-$6,125(F)
16— Us:_r}_g_w'fgrite-nff to cost of goods sold approach , when standard cost variance
(_ra_r% closed?
a- Unfavorable variance increase cost of goods sold and favorable variance
decrease cost of goods sold.
b- Favorable variance increase cost of goods sold and un favorable variance decrease
cost of goods sold.

@' he cost of goods sold no effect.

d-Both favorable and unfavorable variance decrease cost of goods sold.

17-1f the production more than sale the income under absorption costing will be:
= “a-Less than income under variable costing. b- equal variable income costing

c-More than income under variable costing. d- no one of above.

18-If actual direct labor hours 4,500, standard labor hours 5,000 standard variable overhead
rate $5 per DLH, standard fixed overhead rate $0.45 per DLH ,actual variable overhead
$24,750 and fixed overhead 52,250, variable spending variance is:

a- $2,500 (U). b-$2,250(U). ¢-$2,250(F). d-62,500(F)

19-Standard material price of $70 per meter, actual material quantity for actual
production 1,450 meters, material price variance of $14,500 (U) what is the actual price?

a- $75 per meter. b-$70 per meter.  c-580 per meter. d-$80

20- The position of cost accounting in organizational structure falls:

b-is independent unit.

——
i

a- with production department.
¢- with in finance de}nartrnent d-other, specify.........
20 Marks
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Answer three of the following (10 marks for each)

Q 2// The Milano Company has established the following standard mix for producing 9

litters of product A:
5 liters of material X at $ 7 per liter $35
3 liters of material ¥ at S 5 per liter 515
2 liters of material Z at $ 2 per liter 54
A standard loss of 10% of input is expected to occur, Actual input was
53,000 liters of material X at $7 per liter 371,000
28,000 liters of material Y at $5.30 per liter 148,400
13,000 liters of material Z at $2.20 per liter 41,800
100,000 $561,200

Actual output for the period was 92,700 liters of product A.

Required: compute the material mix and yield variance.

Q 3// Al Noor Company determines the standard overhead rates for 2022 based on

10,000 machine hours as a normal capacity. the standard time required to produce one

unit is 4 machine hours. The budget variable overhead rate is $70 per machine hour and

fixed overhead costs are $800,000. during 2022 the company produced 4,800 units of

product and worked 20,400 machine hours. For the year actual overhead costs were

$2,888,400

Required: compute the overhead variance using 3- variances method.

Q 4// Al Bader Company produce the wood table the standard time to make one table is

2 hours. The standard labor rate is $3,000 per hour, production during the month was
—1,000 table. The normal hours worked were 2,200 hours, and overtime on day was 150

hours, normal idle time was 10 hours, and abnormal idle time was 5 hours. The both

types of idle time have not recorded into normal hours neither into overtime. The actual

labor rate was $3,500 per hour.

Required [ 1) Compute the total cost of idle time.

{2) Compute the direct labor variance

Q 5// 1BM Company provide you the following data month of April 2023

Actual data: direct material used of 7,200 Kgs at actual price $2.1 per Kg. Direct labor of

3,000 hours at actual labor rate $2.8 per hour, variable overhead costs $2,500 and fixed

overhead costs $3,000, the cost variances occurred during the month are as follow:

Price variance $750(V), quantity variance $250(U) , labor rate variance $600(U), labor

time variance $600(U) ,controllable variance $1,000(U) ,volume variance $250(F).actual

production was 1,500 units , standard cost for finished is $26,070 and standard cost for

units sold is $15,000.

Required: Record the journal entries according to the partial method.

od luck
m Shabli m

Head of Department Lecturer
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device that me i
/ asures what is Actually happening in the situation being controlled

- Ana -
a ssor  b- A detector. c - An effector. d- A communication

—

14- A company provides the following information, standard material price of $75
per Kg, actual material price of $70 per Kg, material price variance of $156,000(F)
,what is the actual material quantity for actual production?

- 31,000 Kgs. b-31,200 Kgs. c-32,100 Kgs. d-32,000 Kgs.

If you know that the standard labor cost per unit is (4 hrs. x $7 per hr. = $28}
actual time per unit 3.5 hours, actual labor rate of $7.50 per ,actual production
3,500 units ,total labor variance is:

6,125(u). b-$7,000(F). ¢-$7,000{U) d-$6,125(F)
Using write-off to cost of goods sold approach , when standard cost variance

are closed:
_a- Unfavorable variance increase cost of goods sold and favorable variance

decrease cost of goods sold.
b- Favorable variance increase cost of goods sold and un favorable variance decrease

cost of goods sold.
c-The cost of goods sold no effect.

d-Both favorable and unfavorable variance decrease cost of goods sold.

17-If the production more than sale the income under absorption costing will be:
b-equal variable income costing —

a-Less than income under variablecosting. ==

¢-More than income under variable costing. d- no one of above.

18-If actual direct labor hours 4,500, standard labor hours 5,000 standard variable overhead
rate 5 per DLH, standard fixed overhead rate $0.45 per DLH ,actual variable overhead
$24,750 and fixed overhead $2,250, variable spending variance is:

a- 52,500 (U). b-52,250(U). ¢-$2,250(F). d-52,500(F)

lgaﬂtandard matenal prlf.:E of $70 per meter, actual material quantity for actual
pmductmn 1,450 meters, material price variance of $14,500 (U) what is the actual price?

a- $75 per meter. b-$70 per meter.  ¢-$80 per meter.  d-580

20- The position of cost accounting in organizational structure falls:

a- with production department. b-is independent unit.

c- with in finance department d-other, specify..........
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Q 1// chose the correct answer:

1 -Any control system has four important elements : which element helps in comparing
the result with the standard results?

a- A detector. b- An effector. c-An assessor.  d-communication network.

2- In the value chain the design activity is before the

a- R&D activity.  b- Production activity. c-Marketing activity.  d-customer service.

3-Marley Company provides for July the following data: direct material standard quantity
3 mt'trF.I; per unit at standard price of $420 per meter, direct labor standard time 2.5
hours per unit at standard labor rate of 5?50 per hour, total budget overhead costs of
$800,000 , normal capacity 2,000 direct labor hours, and units produced are 720.The total
standard cost per unit is: - 1
a-$4,531. b-$5,341. c-$4,351. (d-54,135, e

4-Fars Marine Stores Company manufactures decorative fittings for luxury yachts
which require highly skilled labor, and special metallic materials. Fars uses standard
costs 1o prepare its flexible budget. For the first quarter of 2021, direct material and
direct labor standards for one of their popular products were as follows:

Materials: 1.5 pounds per unit; $4.00 per pound

Labor: 2.0 hours per unit; $18.00 per hour
During the first quarter, Fars produced ﬁlﬂﬂﬂ units of this product. Actual direct
materials costs were §29,750, Actual direct labor costs were $184,800,

what is the direct maferials cost variance?
a- $250 F b- $250 U c- S480 F d- S480 U

5- When the actual materials mix % is greater than standard materials mix %, the variance
is:

a- Favorable. B- unboreable
c- neither favorable nor unfavorable (_dinon of the above

6- Al saymer company'’s standard labor rates $14.90 per hour and according to the
standards each unit of output requires 2.8 DLHs in June 1,800 units were produced ,
the actual labor rate was 15.80pér DLH and the actual hours were 5,110 DLHs the
labor time variance for June would be recorded as a :

a- debit of $1,106 b-credit of $1,106 c- credit 51,043, d-Sdebit 51,043



- -

7- 1 20,000 kilograms of direct materials are purchased for $14,400 on account and
Standard cost is $70 per kilogram the journal entry to record the purchase is :

* Material inventory control 14,400

~————Accounts payable _14,400

b work in process inventory control 14,400

Accounts payable 14,000

Material quantity variance 400
¢ Material inventory control 14,400

Accounts payable 14,000

—Material purchase price variance 400
d- Material inventory control 14,000
Material purchase price variance 400
~Accounts payable 14,300

8- In flexible budget costs that remain the same regardless of the output level within the
relevant range are

a- allocated cost. b- budgeted costs. c- fixed costs.  d-variable costs. .

9- 2- A flexible budget: b
a- hmnmhrmnqemembyﬂupﬁm,
b—ltsd!vehpuditthecndufﬂnpeﬂnd.
c- hbuedmthehdptedleulufmm. ﬁmoﬂdeflwﬂbltuperatlmresuu.

10- In the flexible budget , fixed overhead costs are $25,000 ,total standard overhead rate
5150 per hour, standard variable overhead rate $120 per hour, actual hours 2,500
standard hours 2,200 standard time required to produce on unit 1/2 hour, flexible budget
allowance for actual hours is:

a $325,000. b-$300,000. ¢-$320,000. d-$275,000

11- Total budget overhead rate is computed per:
a- Direct labor hour. b-machine hour, c-unit produced. _d-all the above

12- For fixed manufacturing overhead there is no:
a spending variance. b efficiency variance,
¢- flexible-budget variance.  d-production volume varlance.

q.'q..



